
Corrections to the Art of Ready Reckoning.

page 127 line 8 from botten. The hyphenation of capacity is strange. I prefer

capa-city.

page 128 line 11. The hyphenation of products is strange. I prefer pro-ducts.

page 129 line 7 from botten. I miss the calculation:

After “40000 km!”

With π = 22

7
we may find the radius as

40000

2π
=

70000

11
= 6363

page 131 lines 3-7. I must admit to be out of my mind. Please write:

(x× 10 + 5)2 = 52 + x(x + 1)× 100,

e.g.,

252 = 25 + 2× 3× 100 = 625,

852 = 25 + 8× 9× 100 = 7225,

1252 = 25 + 12× 13× 100 = 15625.

page 132 line 13 from botten. It would be clearer, if we add something:

“The numbers are” may be changed to The numbers xy and zw are

Mogens.


